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Similarly, one can show that 
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Since p -a = V5 F and [3 + a ~ L , it follows that 
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HINTS TO BEGINNERS' CORNER PROBLEMS 

(See page 59) 

1.2 Use identity III . 

1.3 Notice that p. p -r- 1. p + 2 a r e three consecutive in tegers . Since p > 3 is 

an odd p r ime , p - 1 is even. Why must p * 1 be a multiple of 3? 

1 . 4 2 5 * 7 - 1 = ( 2 5 ) ' - ( 1 ) T = ( 2 s - 1 ) [ ( 2 5 ) 6 + ( 2 5 ) 5 4- . . . + ( 2 5 ) t- 1 ] . 

1.5 If N is composite, then by T l it must have a p r ime factor p. This factor 

must be one of the following: 2. 3, 5, 7, •••, p . Thus p;N and p|(2-3-5---p ). 


